-~ oln
= os
N
= T — (]
Mr-. J!.,m.._,.nf.m Q%
2 33 DU R
e DD
~ A
m ﬂ:ﬁ w =
~ E
W= “"ia=
7“.” - —_—
[= _X_u <
_—io .mwn
T 002
I & =g s
SR IE| Yy
1| R
° . O__u <
1_,_A| —_ _A__u
wla wo M H
T W >
N
< R || K
—\) I
gF S A
&l " =
D._ o T I..AI U._
WA o

- 97|, 2

- NEISTINY, &

=i
=

2 @29 9728

A5

2 37

zH
ZH

7

—_
o

[
o

oF
o

—
O

—

u

p—

~

]
=

21119 o ABI AL EA A A

o] # H .

—
110

R

Aot 219 A

=l



BE 7bEA el

s

‘HEEgY I 3

o] o]

Als

-
At

BAAN A BA S

NEEEPARS|

—
-

I ofe=ol

)

stAl A3t

==
= 9

o
=

TR
=

B

2

—

ul

N

F4 B4 7

S AL

skar AA A}

o
A IE

=
=

3

e o

ol

2o A F

——
"o

A e Aol

N

i

A

o tin]]

b

e

Al E50|%]|

‘O A| QIE{LlIEEZ" (http://tv.incheon.go.kr/) 'EEQIH 0| AA|E of™L|C}.

.l

|

od
{o}

=

Kio

AH18A))

ol
rd

3 A

B



http://tv.incheon.go.kr/

0 YA [97.(%) 19 5%

WE YE | AR UE i 2¢E e
1530~1600 | 3 |@ FEAF J4F Spee As % w4
SFYAA E7 SHE 108) 2% 79
16:10~16:30 20° ®@ EEI‘DHE%‘?'._-I ALZ ZXAIME 92 #HE Y
CIHBIA 57 stEHE 129) | ZPA Ao ~
16:55~17:10 15¢ @ -"_FE I ?:.l.?ﬂ9|§ AL EXAIE 92 wE o
(RIH B G5 T HEZ 51) 22X} 242 B
o 17 ‘ SR FL
720~1730 | 100 | @ (zj;a'%rlw LI_#%L simoz 215 | BF TR A
M 1o ‘ LFIEHHA
750~1800 | 10 |© ESTEEL 0 usay|9BE 2 By 22X 3
o i
O dA [9.8.(F) 294} M&
HiZ2 Olxd A =
U 98 | 28 UE i g3 e
FERAI S
11:30~12:50 80 @ (I HZorA] A 2l | Mg posel Al 2 54
7|—£}£E}Il}ﬁ£ﬁ HH=06HZ 26 2z o T
_ _ . | @ 1192}5iCH S ME]
1310~1320 | 10 21%H1 190k R MIEf siol 22X e
(iF A M7 B8230Y 47-5)
1340~13: ¢ @ MPEFEZAEA sl o
40~13%0 | 10 (elB oA HT MR=3018Z 25) |00 =Tt A
On ‘ AFAF= AFS & Of A|XF
1410~1440 | 30° | @ @Eﬂfﬁﬁ%%;ﬂ %ﬂlé?%; w0 |BE BT A
B 134 o X X| 31T
1500~1510 | 10° ® (SIS 2o A Ig‘;%lj Azzs5 e HY TRA A
B 2 T T
o 1n ‘ HI{QG OIA|MEZHAIA
i5i2~1520 | & |© TBA BAHBEME  Tozn 9wy aexn 2e
N 1n ‘ IMIIEZY
1550~1620 | 30° |@ ('55%21%%? ez 61) FdE =TA A
B 17 | @ UMEAIBCE ST|AIHA s
1650~1700 | 10° | @ (Eﬁﬂowqﬂc%?fgélﬁﬂ};?éat) shFAel SAHAL =
_ _ S| = = o 3}
17:10~17: EOR = 4= kX1 =
720 | 19 (eiiion ok ooz o ol 1 1S I E WE
> _
O ¥4 [9.9.(F) 3¥xH 4714
H
42 9y | 20 w2 Chat #s U8
A A ‘ Lix = AL O A| &
130~1400 | 3 |@ SESHEEWNT  ° syze o wzacx e
Ot ‘ M3l55 E=zH|c
1410~1430 | 200 |@ OS2 o%'%%!EIH_E 0) B 2 HE
e ‘ KA OAIMEHAA
1g~1500 | 10 |@ L HILSEAL BE =FA A
_ _ ‘ O === ME
151 ~15: @ T==2 1- []
0~1530 | 20 (AIH T o7 A= 12) eE =TA A




